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The Pythagorean Theorem and its Converse
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Use a Pythagorean Triple to find x».
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Determméo'whether each set of numbers can be measure o

If so, classify the triangle as acuie, obtuse, or right. Justify your answer.
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\ I _ Determine whether AGHI is a right triangle for the given vertices. Explain.
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the sides of a triangle.
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ther each set of measures can be the meaSures o the sides of a

R right triangle. Then state whether they form a Pythagorean triple.
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10 feet from the base of the main dock and is 11 feet long. How
high is the dock?
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